1. BTEDIKR

F 2943 A K BT (B m. %)

ERER 2K EER BRUBFER BB ER HERER AR
448 334.401.00 248.239.80 7423 249.977.80 7475
BEH B RERN
2. BLEEHRR ‘
FER29FE3IA KRB IR (BAL:m, %)
X5 =1 1% 2%k Z Dt
= E K 334.401.0 44,7293 32.818.4 256,853.3
B RFIER| 24823980 43.814.10 30,800.00  173,625.70
B R X 74.2% 98.0% 93.8% 67.6%
WEFERl 24997780 44,560.20 3023800  175,179.60
W OE = 74.8% 99.6% 921% ____ 68.2%
B EERERER
3. BEEFERR
FrE29F4A KRB IR (B km, %)
=i R BAHET
X %
EER BB R EiER BB R
ERE
TEHAE — 1,175.1 11121 1,171.9 16.0 13.2 15.9
* - 94.6 99.7 - 86.8 995
ERE
— e = 1,141 1 980.0 1,111.8 104 9.8 104
* - 85.9 97.4 - 94.3 100.0
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